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QUESTION 1
1.1 (x—2)(3x+4)=0 v x =2
x=2 OR x=—2 vox=—2
3 : (2)
1.2 1.2.1 V2—x = x+4 v Squaring
V2 — )2 = + 4)2 both sides
( _x] 5 (x ) v" Standard form
2—-X = x°+8x+16 v Eact
X+ 8x+16+x-2=0 P Ai(;v?/resrs
x>+ 9x +14 =0 v x=_2onl
(X + 2)(x + 7) =0 ——eonly
x=-2 OR x=-7
NA (5)
1.2.2 2X(x-3) =1 v’ Standard form
2x% - 6x — 1 =0 v Substitution
a=2;b=-6;c= -1 v" Answer
_ —btyb®—4dac v’ answer

2a

_—(-6)(-6)*—4)(-1)

2(2)

(4)
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1.2.3 |z +4x+3 >0 v x+1
x-1 v x+3
%2 4+ dx+3 v" Critical values in
— 0 x#1 context of an
inequality
LerD)43) o v’ correct notation
x-=1
OR
(-3;-1) U (1;x) (4)
13 |2x*—3x=38 v" Divide by 2
x? — gx =4 v I3
3 1 —3y2 1 -3} 16
x2—-x+ (— X —) =4+ (— X —) v" Finding square root
2 2 2 2 2
(:Jc—i)2=4—|—i (£)
4 16 v x=2,89
(X_E)Z =73 v x=-1,39
4 16
3 73
SRR .
Use of quadratic
N formula max 2/5 for the
S two correct answers.
X 3+:?3 OR X=3 V73
X =289 OR X =-1,39 (5)
[20]
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QUESTION 2
2.1 | 33%-43™® v' Expansion
3% 3% v 3*(3-4.9)
_3.3%-4.3% 37 v 3(1-3)
T og¥_a¥ 3t
. v Answer
_ 3% (2-4.9)
T 3%(1-3)
= ? If k-method is used
a2 exactly the same mark
= allocation
=16-0OR =
2 2
(4)
2.2 2.2.1 V5, 10
verz oW , 5+10/5+2)
=5+10!\/§+2_) 5+25
5+2.5 v simplification
5+104/5
_5+105+20 , 56+245)
5+245 5+24/55
2541045
5+245 v’ answer
_55+245)
5+24/55
=5
OR
Vs 10
Vs+2 45
43 « \5-2 + io0
Vs+2 T W5-2 45 Rationalizing the
_5-25 10 45 denominator
T~ 5 V5 4 v’ Rationalizing the
_ 1043 denominator
=5-2V5 + — v Simplification
v
595 + 245 Answer
=5 (4)
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222 | (AR |y Vo
TZDDB
(d\?znog{d\?a_d\? :]—|-\I."_)2 v \/?—\/F
/72008 v (7\.1{’7)2
=(W7% — V7T +7)? v' Answer
=(IV7 -7 + V7Y
=(7V7)?
=343
OR
-:;2011_ ?ZDDQ ﬂg
22 ey 2
. v (7-1)
2011_ - 2008 2009 \/ (7‘\1{.?)2
—( 2008 + ‘V'/_ ) v" Answer
EDDQ{? 1:]
- ( 71004 ﬁ )2
= (V77
= (49)(7)
=343 (4)
23 |from: 2*. 4 =1 v 2
28,22 =2° v x+2y=0
x+2y =0 OR
X= —2y ................. ® X= 2y
. Y\ — T
subst @ into (4) ) ) v’ substitution
@) 7= v' same bases on either
o-4y? _ 54 side
y = +1 v x =42
substy= +1linto ©
y = 1 X =2
y=-1 X =2
OR
(6)
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247 =1 v 2%y
2°.2% =2° v x+2y=0
X+2y =0.......... 1 OR
@y=1 X= -2y
16 ‘/ 2%y —4
229 =27 27 =2
v 2xy=-4
2xy = —4
2 v y = +1
y:—; ................ 2 \/ X = +2
x+2(—gj:0
X
x2—-4=0
(x—2)x+2)=0
X=-2 0or x=2
2
y=--
X
2 2
=—— o ———
2 -2
y=-1 y=1
[18]
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QUESTION 3
3.1 3.1.1 | Roots are non-real (imaginary) v'v'"Non-real roots
therefore A < 0. OR
Vv A< O (2)
3.1.2 | Roots are real and equal, v Roots are real
A=0 v Roots equal
(2)
3.2 A = (2K -1)* — 4(k)(k-1) v’ Substitution
= 4k? — 4k +1 -4k? +4k v Simplification
=1 v" Value of 1
1 is a perfect square, the coefficients | v~ Perfect square
are rational, so the roots are rational. (4)
[8]
QUESTION 4
41 411 |[-1; 8; 23; ... v -1
V8
v'23 (3)
412 |3k -4=71 v3ki—4=71
k* = 25 v k=25 or
k=+5 (k—5)k +5)
k=5 v k=5
No marks for k=+5 (3)
4.2 4.2.1 | Quadratic number pattern v" Quadratic
v" second difference is
0;5;12; 21; constant or
\/\N illustration
2 2 If the learner only
Quadratic number pattern show the pattern
without justification
OR/OF only 1 mark
Quadratic number pattern
The first difference is not constant
but the second difference is
constant.
(2)
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422 |2a=2
La=1 va=1
3a+bh =5
3(1)+b =5
b =2 vb =2
T, =a+b+c
0=1+2+c
-.c=-3 ve = -3
~Tn = an®+bn+c
Tn = n?+2n-3 vTn = n?+2n-3
(4)
43 431 |Row4 v Row 4 =22
77 —6°+5°—4° =22
Row 20 v'Row 20 = 86
23% —22% + 21> —20% =86 (2)
432 | (n+3°-(n+2*+(n+1)°-n*=4n+6 | v a=n+3
syb=n+2;c=n+1;d=n
v T,=4n+6
If only the general term
was given 1/3 (3)
[17]
QUESTION 5
51 [x=-2and y=1 vV x=-2
v y = 1
Both has to be in equation
form. If not 0/2
If p=-2 and q=10/2 (2)
52 |SubB=(0:-2)iny = ——+1 v’ Substitution of
i x+32 (0;-2)andg=1
2 =—+1
iI'il:+2
2 = —-+1
2
3= E
2
then k = -6
Ly= — 41 v kvalue
e v’ Answer (3)
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- __6 +1 v y = 0
5.3 xtZ v X+2=6
1= Y x=4
(x+2) = 6 v Writing Point D in
X =4 coordinate form.
~.D(4;0)
(4)
54 |C(-2;0) and B(4;0) CA from 5.3
y = a(x+2)(x—4) v x+2
-2 = a(0+2)(0-4) v (x-4)
-2 = a(-8) v Sub. B (0; -2)
— 1
= v a==
4 4
y = i (x +2)(x —4) v' answer in any form
y = —(x*-2x-8)
— E 2 E 2
—ar % 5)
55 v’ Shape
g(x) = 2%+2 v' Coordinates of
(0:4)
Ay v Graph not crossing
the x- axis
‘L/ (0; 4)
d XL
v (3)
56 |y=2%1 vvy=2*"1 )
57 |yisreal, y #1 viyisreal, y=1
(ye R)
both condition (1)
[20]
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QUESTION 6
6.1 |x€[0;4] v 0
OR v 4
0<x<4 (2)
6.2 h(x) =—(X* —4x+4—4) v a=-1.
v p=-2.
= —(x—2) -4 P
x-2) v q=—4 ©)
6.3 CA from 6.1
Ty L (2:4)
h(x) v" Shape (neg graph)
'; v Turning point
) R v’ y-intercept.
) g 2 & K v’ positive y-values
E only.
Voo
(4)
6.4 |h(x) = -x°+4x v Sub x with (x-5)
= (x-5)*+4(x-5) v' Simplification
= — (x* - 10x +25) + 4x -20 v Answer
= —x* +10x —25 + 4x -20
~h(x=5) = —x* + 14x -45
OR OR
y=—(x-2)7°+4 Y (x—2—5)?
=—(x—-2-5)°+4
=—(x-7)°+4
= (X*—14x+49) + 4 v’ Simplification
=_X*+14x-49+4
= 2+ 14x _ 45 v" Answer (3)

10
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6.5 k(x) = x* — 4x v 2
Y _ax 2)
6.6 9 9
p(=3) =5 Y p(-3) = P
1 1
pCD) =5 YD) =5
Average gradient v' Answer
Y= V1
= xE_ xl
s_1
— 2 2
—3—(-1)
..Average gradient of p=-2 (3)
[17]
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